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import pandas as pd

df1 = pd.DataFrame({'Name": ['Kim', ‘Lee’, 'Park’], ‘Gender": ['M', 'M", 'F’],
'Mid": [90, 85, 951})

df1

Name Gender Mid

0 Kim M 90
1 Lee M 85
2 Park F 95

df2 = pd.DataFrame({'Name': ['Wolfpack’, ‘Ray’],
‘Mid': [90, 951})
df2

Name Mid

0 Wolfpack 90
1 Ray 95

df3 = pd.DataFrame({’'Name': ['Wolfpack’, 'Ray'], ‘Gender': ['M’, 'F'],
‘Mid": [90, 95]})

df3
Name Gender Mid
0 Wolfpack M 90
1 Ray F 95

df4 = pd.DataFrame({'Name': ['Lee’, 'Kim', 'Park’, ‘Wolfpack’, ‘Ray’],
'PopQuiz": [80, 85, 90, 95, 951})

df4
Name PopQuiz
0 Lee 80
1 Kim 85
2 Park 90
3 Wolfpack 95
4 Ray 95



df5 = pd.DataFrame({’'Name': ['Kim', ‘Lee’, ‘Wolfpack’, ‘Ray’],

‘Final’: [90, 85, 95, 951}) SM0| 4HE A2 C|ZE SMOR AIRSIX| QoH [IZET}
df5
pd.concat([df1, df2], axis=0, join='outer')
Name Final « axis : &l =2 A $Hx|7| 1= &X|7|
0 Kim 90 « join : outer=ef&e}, inner=u &gt
1 Lee 85

= O|o|H=2||o| 3&HTt G st A2 pd.concat[[df1, df2]]

2 Wolfpack 95

3 Ray 95 - df1.append(df2) gt

pd.concat([df1,df3]) dfl.append(df3)

Name Gender Mid Name Gender Mid

0 Kim M 90 0 Kim M 90
1 Lee M 85 1 Lee M 85
2 Park F 95 2 Park F 95
0 Wolfpack M 90 0 Wolfpack M 90
1 Ray F 95 1 Ray F 95
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T HO|HZY Y S8H2 2 Q= H &l oFX|7], join=‘inner’

M2 & X|7| df.concat([df1, df2], axis=1)

pd.concat([df1,df2], join="inner’)

pd.concat([df1,df2])
. Name Mid
Gender Mid Name
0 M 90 Kim! = |9 Kim 90
1 M 85 Lee 1 Lee 85
2 F 95 Park 2 Park 95
0 NaN 90 Wolfpack 0 Wolfpack 90

1 NaN 95 Ray 1 Ray 95

T o[z M= HEEX|

oo

join=‘outer’ (&&Ig &X|7|)- CIZE : & 771 H2 AL NoN ZZZ10| XM&E

=
X|71)- & 7H=7t =2 HlO|& Zaf| & 7H=~2F ME

_,_
(0] ]]
oo

join=‘inner’ (u &

pd.concat([df3,df1], axis=1)

Name Gender Mid Name Gender Mid

0 Wolfpack M 90.0 Kim M 90
1 Ray F 95.0 Lee M 85
2 NaN NaN NaN Park F 95

pd.concat([df1,df3], join="inner’,axis=1)

Name Gender Mid Name Gender Mid

0 Kim M 90 Wolfpack M 90

1 Lee M 85 Ray F 95
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M=ZerXx|7] merge

how=‘inner’ (2} CIZE

- df50|l= Park Final H|0|E{ gt0| §10] df0, df5 merge Z21t0i|= Park 812

pd.merge(df0,df4, on="Name’)
pd.merge(left, right, how='inner', on=None) pd.merge(df0,df5, on="Name’)

Name Gender Mid PopQuiz

« on=[["7|H=1"'7|H42]] OIO|E] Q) ex|= OiE 7| ¥ XY, gie™ ¥
2451%|7| 0 Kim M 90 85 Name Gender Mid Final
Ebl
« how : inner(ZE/3H), outer(BHEIE), left(2Z Clo|E] Zaile) 7|4 AlS), 1 Lee M85 ot |- Kim Mo 90 90
right(@E% H|o|E{Za||Y 7|84 ALS) 2 Park F 95 0 1 Lee M 8 85
3 Wolfpack M 90 95
df0=pd.concat([df1,df3]) P 2 Wolfpack A B R
dfo df4 .- 4 Ray F 95 95 3 Ray F 95 95
df5
Name Gender Mid Name PopQuiz
. Name Final
0 Kim M 90 0 Lee 80 pd.merge(df0,df5, how="outer’, on="Name’)
1 L M 85 1 Ki gs | O Kim 90 e
ee m how="outer’ &} &g} M=
2 Park F 95 2 Park 9 [ 1 Lee 85 ) .
Name Gender Mid Final [ 50| 9/= parkoll= Z=7)
0 Wolfpack M 90 3 Wolfpack 95 2 Wolfpack 95 o X_PWETEI_ ———
i a =|C|,
1 Ray F 95 4 Ray sl 3 Ray 95 0 Kim M 90 90.0 S
1 Lee M 85 85.0
2 Park F 95 NaN
3 Wolfpack M 90 95.0
4 Ray F 95 950
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http://203.247.53.31/Stat Notes/example data/climate/2018climate.csv

import pandas as pd

url="http://203.247.53.31/Stat_Notes/example_data/climate/2018climate.csv’

df_c=pd.read_csv(url,encoding='ms949’)

df_c.info()

<class 'pandas.core.frame.DataFrame'>
Rangelndex: 34675 entries, O to 34674
Data columns (total 61 columns):

NES 34675 non-null int64

ZA| 34675 non-null object
Ha7|2((°0) 34630 non-null float64
Z[X7|2(°C) 34672 non-null float64
Z|X7|2 AlZH(hhmi) 34672 non-null float64
xlT1 712 /7°\ QAELT2 nAn_nri Il FlAa+ A
df_c.head(3)

g3 HN N2 H: W2  Z+ 1023

;I g2A 712 IR Azt 712 ANzt AIZAl Cp s
(°C) (°C) (hhmi) (C) (hhmi) ZHhr)  (mm)
0 90 2015 10 32 3430 42 14430 NaN  NaN

1 90 2913: 1.5 -21 23440 5.6 1358.0 NaN NaN

import pandas as pd
url="http://203.247.53.31/Stat_Notes/example_data/climate/location.csv'
df_pos=pd.read_csv(url,encoding='ms949")

df_pos.info()

<class ‘pandas.core.frame.DataFrame'™>
Rangelndex: 588 entries, O to 587
Data columns (total 2 columns):
2H=X1E 0 588 non-null int64
L5534 588 non-null object
dtypes: int64(1), object(1)

memory usage: 9.3+ KB

df_pos.head(3)
HEXH HEFL
0 90 Zee 1 EMH 854 9 (XIS AUZA
1 93 T EHA| AES FE1Z2 12 FF7| 4T
2 05 Q- HRIF ZUS YHZ179HZ 26 HAXS7|AHZLA


http://203.247.53.31/Stat_Notes/example_data/climate/2018climate.csv
http://203.247.53.31/Stat_Notes/example_data/climate/2018climate.csv

ZSX|E 74 merge
- OiE 7| X|E-F HO|HZ8 |2 2HEXH HSE 71X S
o df_cOil= (25)X(|H HE HEHTE Q0| =4 HRSH
. & GjojE{mRRlo] 7|#4-0] 0|Z0] AH0| ; XIH-BHEX|

HX df_c HIO|H =Y X[E-> ESX|HMO=E H1F
df_c.rename(columns={'A|&":'2=X|&"},inplace=True)
df_c.info()
<class 'pandas.core.frame.DataFrame'>
Rangelndex: 34675 entries, O to 34674
Data columns (total 61 columns):
HEX|H 34675 non-null int64
UA| 34675 non-null object
HA7|L2(°C) 34630 non-niill floatc4
pd.merge & &X|7|
df_fin=pd.merge(df_pos, df_c, on="2ZX|H")
df_fin.head(3)
?d n . N N
& 47 zd Ex™7| F;  FDI|  ZF
;II BEFL YAl 7|2 7|2 2AMZ T2 2 M ASA
= (°C) (°C) (hhmi) (°C) (hhmi) Zk(hr)
el INZ EN
0 90 ®EmsU9sx 20T 10 32 3430 42 14430 NaN
NEPSA
Zelz M7 EN
4 an 0{ EXRZl g &x 2018- 18 21 2AA N RRA 1288 N N\

HEFA - AMEO|E BHEY| str.split() / str.slice()

- str.split() 0|8 &2 A EX1E AIEY 77|

- str.slice() : A= & 27l SXt 7HH 27|
BSFA HIEEM

e 20184 7|A H|O|E{0|E 2 X|™DOICt 3657l &HEX| Q)

0jo

df_fin.2=FA value_counts()

%'Q'ETE gk atekg 84eE| 915-202 A RAS7 | HESEA 365
22l QT PSS PYAZ 1894-25 PAXIST|MBEA 365
%'“EE tEA| GEXH1Z 16 S 7| ATH 365
EXMEEC =D XZB O] 2A1Z] I5-158 XZESTHE7IAFDIFE A 2RA
HPEHA S £S22Z 10 Cf27|AX|H 365
U ZEA| AFH ISHHX| 2 130 Z XL 7|4 365
AAEE oA OSICH 2 44-54 SAZKIS 7| MESA 365
Name: =34, Length: 94, dtype: int64

B, 18 AL A

0gt

[0]0] AISH [1]2 DAZ EAIE ~

df_fin['A|=0|E']=df fin.2tZFA str.split( ',n=1,expand=True)[0]

df_fin.info()
df_fin['A|=0|&'].head(3)
o7l HlLA|ZHhr) 580 non-null floaté4 © 770?5
N = 34310 non-null object 1 ZE:
dtypes: float64(58), int64(1), object(4) 2 ZRk

memory usage: 18.0+ MB Name: A|=0|&, dtype: object
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df_fin['A|=0|£2']=df fin['A|=0|Z"].str.slice(0,2)

df_fin['A|=0|£2"].head(2)

0 Z¥
1 Z¥

Name: A|=0|&2, dtype: object

7|AF 5343 non-
QL7 AlEA|ZHhr) 580
AlE0|2 34310 n
AlE=0|E2 34310 |

dtvoes: float64(58). int64(1)

T

7

« df_max : siE Al Ul sliE & Z|C 72 25XH CHEar

FH

» df_p90 : s Al L sie & 491 90% BEXIH thest

df max=df_fin0.groupby(['A| =0|Z2', "2 A|']).max()
df_p90=df_fin0.groupby(['A|=0|Z2','2 A|']).quantile(0.9)

YA HO[HE 7E4 27|

=2
QA & 0j20 2 MY

df_finO=df_fin[(df_fin[A|==0|&2]=="C{F") | (df_fin['A|=0|S2']=="TH+*)
| (df_fin[A|=0|F27]=="24F) | (df_fin[A|=0|F2']=="F1F)
| (df_fin[A|=0|E2']=="8F) | (df_fin[A|=0|52]=="21&")

| (df_fin['A|=0]|F2']=="AM=)]

df fin0.A|=0|&2.value_counts()

eIM 1095
HA 365
7 365
CHE 365
Mg 365
= 365
24 365

Name: A|=0|&2, dtype: int64

df_fin0.shape
(3285, 64)

df_max.reset_index(inplace=True)

df_max.info()

<class ‘pandas.core.frame.DataFrame’>
Rangelndex: 2555 entries, O to 2554

Data columns (total 63 columns):

A|E0|E22 2555 non-null object
2UA| 2555 non-null object

0.5m X|Z2%(°0) 1456 non-null float64
10m XI=L5E(°() 1460 non-nuill floatec4

df_max.shape

(2555, 63) (3652 * 77} ZOIA|) =2555 3 BHEx|



A=7F tiAIst2]| df fillna(Zt, inplace=True)

- &9 7= HI0|E7} §l= 42 NaN7t MBE[0 AS
- 7|2 H|0|E{e] B2 A& X|= 022 ChA|st0] AHE5HE EICt.

df_max.iloc[:,[0,1,24,28]]

AE0|52 UA LZSE(mm) Z17|2(°C)
0 &F 2018-01-01 NaN 7.1
1 3 2018-01-02 NaN 8.4
2 &3+ 2018-01-03 NaN 3.8
3 3 2018-01-04 NaN 2.1
4 &3 2018-01-05 NaN 5.2
5 &% 2018-01-06 NaN 7.2

df_maxfillna(O, inplace=True)
df_max.iloc[:,[0,1,24,28]]

A0l 52 LA LPS(mm) F17|2(°C)
0 33 2018-01-01 0.0 7.1
1 &+ 2018-01-02 0.0 8.4
2 &% 2018-01-03 0.0 3.8

=X HIO|E BtE7|, &8 - pd.to_datetime(E=XAt&H 4. object)

o OFoF IXIAHSTL O|L LD int2! B df[‘intt"].astype(str)
df_max.info()

<class ‘pandas.core.frame.DataFrame'>
Rangelndex: 2555 entries, O to 2554
Data columns (total 63 columns):
A|EO|E2 2555 non-null object
A 2555 non-null object

df_max['2A|']=pd.to_datetime(df_max['ZA|'])

df_max.info()

<class '‘pandas.core.frame.DataFrame'>
Rangelndex: 2555 entries, O to 2554
Data columns (total 63 columns):

A|E0|E2 2555 non-null object
Al 2555 non-null datetime64[ns]
0 5m XI=L25(°C) 2555 non-nuill floate4

« DFSeries.dt.8M : weekday 0=%!, 6= =X

df_max[[2Al','Y’, "2 T].head(3)

2A @ 2¢

0 2018-01-01 1 0

1 2018-01-02 1 1
df_max["&"1=df_max['ZA|'].dt.month

df_ max['2¥']=df max['ZA|'l.dt.weekday 2 2018-01-03 1 2



import seaborn as sns

import matplotlib.pyplot as plt
from matplotlib import rc
import seaborn as sns
%matplotlib inline

rc(‘font’, family="AppleGothic’)
plt.rcParams['axes.unicode_minus'] = False

plt.rcParams[“figure.figsize"] = (14,4) #set size of Graph
ax = sns.boxplot(x="A|=0|£2", y="%|117|2(°C)", hue="2&",
data=df_max, order=['M&", 'QI&", 'THE', "&F", "2LF])

import seaborn as sns

import matplotlib.pyplot as plt
from matplotlib import rc
import seaborn as sns
%matplotlib inline

rc(‘font', family="AppleGothic')
plt.rcParams['axes.unicode_minus'] = False

plt.rcParams["figure.figsize"] = (14,4) #set size of Graph
ax = sns.boxplot(x="A|=0[|&2", y="%[117|2(°C)", hue="Q&",
data=df_max, order=['AM=", '2IH", 'tiH", "&F', 'FLH)
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